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Question 3: Long Essay Question, First vs. Second Industrial Revolution 6 points 
 

General Scoring Notes 
• Except where otherwise noted, each point of these rubrics is earned independently; for example, a student could earn a point for evidence 

without earning a point for thesis/claim. 
• Accuracy: The components of these rubrics require that students demonstrate historically defensible content knowledge. Given the timed nature 

of the exam, essays may contain errors that do not detract from their overall quality, as long as the historical content used to advance the 
argument is accurate. 

• Clarity: Exam essays should be considered first drafts and thus may contain grammatical errors. Those errors will not be counted against a student 
unless they obscure the successful demonstration of the content knowledge, skills, and practices described below.  

 

Evaluate the most significant difference between the first Industrial Revolution and the second Industrial Revolution.  
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Reporting 
Category Scoring Criteria 

Row A 
Thesis/Claim 

 
(0–1 points) 

 
 

 

0 points 
Does not meet the criteria for one point. 

1 point 
Responds to the prompt with a historically defensible thesis/claim that establishes a line of 
reasoning. 

Decision Rules and Scoring Notes 
Responses that do not earn this point: 
• Are not historically defensible. 
• Only restate or rephrase the prompt. 
• Do not respond to the prompt. 
• Do not establish a line of reasoning. 
• Are overgeneralized.  

Responses that earn this point: 
Provide a historically defensible thesis or claim about the most significant difference between 
the first Industrial Revolution and the second Industrial Revolution. The thesis must suggest at 
least one main line of argument development or establish the analytic categories of the 
argument.  
 

Examples that do not earn this point: 

Do not focus on the topic of the prompt 
• “The most significant difference between the two Revolutions 

was the effect of the Enlightenment.” 

Do not provide a historically defensible claim 
• “The most significant difference was the spread of industry to 

Britain during the second.” 

Provide a historically defensible claim, but do not establish a line 
of reasoning  
• “The Second Industrial Revolution had a major effect on 

Europe’s economy.”  

Restate the prompt or are overgeneralized  
• “The First and Second Industrial revolutions were very 

different.”  
 

Examples that earn this point: 

Establish a line of reasoning that evaluates the topic of the prompt 
• “The most significant difference between the two industrial revolutions was that the First 

was powered by coal, while the second expanded into the use of petroleum and the 
generation of electrical power.”  

Establish a line of reasoning that evaluates the topic of the prompt with analytic categories 
• “The most significant difference was that the First expanded existing production while the 

second created new products and more specialized types of manufacturing.” 

Establish a line of reasoning 
• “The most significant difference in the two revolutions was that the second spread to a 

broader area of Europe.” (Minimally acceptable thesis/claim) 
 

 Additional Notes: 
• The thesis or claim must consist of one or more sentences located in one place, either in the introduction or the conclusion (which may not be limited to the first 

or last paragraphs). 
• The thesis or claim must identify a relevant development(s) in the period, although it is not required to encompass the entire period. 
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Reporting 
Category Scoring Criteria 

Row B 
Contextualization 

 
(0–1 points) 

 
 

0 points 
Does not meet the criteria for one point. 

1 point 
Describes a broader historical context relevant to the prompt. 

Decision Rules and Scoring Notes 
Responses that do not earn this point: 
• Provide an overgeneralized statement about the time period 

referenced in the prompt. 
• Provide context that is not relevant to the prompt. 
• Provide a passing phase or reference.   

Responses that earn this point: 
Accurately describe a context relevant to the difference between the first Industrial 
Revolution and the second Industrial Revolution. 

 
 

Examples that do not earn this point:  

Provide an overly generalized attempt at contextualization 
• “There were numerous new inventions in the 1800s.”    
• “Before industrialization, things were made by hand.” 

Provide a passing phrase or reference  
• “The Industrial Revolution was a big change.”    
 

 

Examples of relevant context that earn this point include the following, if appropriate 
elaboration is provided: 
• Increased commercial activity  
•  Urbanization and worker migration patterns 
• Agricultural revolution of the 18th century 
• Factors enabling early industrialization in Britain (markets, financial institutions, 

transportation networks) 
• Watt and the steam engine 
• Military competition among great powers 
• Growth of railroads 
• Development of the middle class 
• Wage labor and the factory system 
• Geographic differences in resources and economic development 
• Piece work and the putting out system 
• Expansion of consumer opportunities and the development of new institutions like the 

department store 
Examples of acceptable contextualization:  
• “The increase in the size of cities during the 1700s provided a larger labor pool for the 

new factories that were being built for mass production of goods such as textiles.” 
• “An emerging middle class that earned its living off of factory labor owned most of the 

means of production.” 
• “England’s natural resources allowed it to industrialize early. (Minimally acceptable 

contextualization.) 
 Additional Notes: 

• The response must relate the topic of the prompt to broader historical events, developments, or processes that occur before, during, or continue after the 
time frame of the question.  

• To earn this point, the context provided must be more than a phrase or reference. 
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Reporting 
Category Scoring Criteria 

Row C 
Evidence 

 
(0–2 points) 

 
 

0 points 
Does not meet the criteria for one 
point. 

1 point 
Provides specific examples of evidence relevant to the topic 
of the prompt. 

2 points 
Supports an argument in response to the prompt using 
specific and relevant examples of evidence. 

Decision Rules and Scoring Notes 
Responses that do not earn points: 
• Identify a single piece of evidence. 
• Provide evidence that is not 

relevant to the topic of prompt.  
• Provide evidence that is outside the 

time period or region specified in 
the prompt. 

• Repeat information that is specified 
in the prompt.  

Responses that earn 1 point: 
Identify at least two specific historical examples relevant to 
the topic of the difference between the first Industrial 
Revolution and the second Industrial Revolution.  

Responses that earn 2 points:  
Use at least two specific historical examples to support 
an argument regarding the difference between the first 
Industrial Revolution and the second Industrial 
Revolution.  

Examples of evidence that are specific and relevant include 
the following (two examples required): 
• The use of mechanization in textile manufacturing 
• Growth of advertising and consumerism 
• Greater leisure opportunities 
• The growth of transportation and trade networks 
• The sponsorship of industrial development by states such 

as Prussia 
• Increasing scale and complexity of industrial processes 
• Lagging industrialization in Southern and Eastern Europe 
• Urban growth—problems and solutions 
• Expansion of organized labor and labor activism 
• Karl Marx and Frederick Engels 
• Department stores 
• New chemical processes 
• The Bessemer process 

Example of a statement that earns one point for evidence: 
• “The expansion of railroads and the use of steamships 

meant that manufactured goods and raw materials could 
be transported quickly and cheaply inside and outside of 
Europe, helping to expand consumerism.” (Mention of 
technological advances and mention of the growth of 
consumerism count as two separate pieces of evidence.) 

Examples that successfully support an argument with 
evidence:  
• “When people first moved into factory work the 

labor was low-paid, but by the late 1800s work and 
manufacturing became more specialized and wages 
increased.” (Functions as part of an argument that 
the second Industrial Revolution was more 
beneficial to the working class.) 

• “Marx’s words inspired a movement to improve the 
conditions of workers. German authorities 
implemented new laws providing insurance and 
pensions for workers as a way of stopping 
revolutionary worker unrest.” (Presents a topic 
sentence making a general statement about the 
effects of Marx’s ideas followed by two specific 
examples.)  

• “The Bessemer process enabled the mass-
manufacture of steel, enabling the production of 
new goods and transforming the production of key 
industrial materials like turbines and railways.” 
(Presents a piece of evidence about steel and links 
it to an argument about the importance of steel 
manufacturing in the second Industrial Revolution.)  

Examples that do not earn points: 
Provide evidence that is outside the 
time period  
• “Scientists such as Isaac Newton 

developed laws of mechanics.”  

Additional Notes: 
• Typically, statements credited as evidence will be more specific than statements credited as contextualization.  
• If a response has a multipart argument, then it can meet the threshold of two pieces of evidence by giving one example for one part of the argument and 

another example for a different part of the argument, but the total number of examples must still be at least two.  
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Reporting 
Category Scoring Criteria 

Row D 
Analysis and 
Reasoning 

 
(0–2 points) 

 

0 points 
Does not meet the criteria 
for one point. 

1 point 
Uses historical reasoning (e.g., comparison, causation, 
continuity, and change) to frame or structure an argument 
that addresses the prompt. 

2 points 
Demonstrates a complex understanding of the historical 
development that is the focus of the prompt, using evidence to 
corroborate, qualify, or modify an argument that addresses the 
question. 

Decision Rules and Scoring Notes 
Responses that do not 
earn points: 
• May include evidence 

but offer no reasoning 
to connect the 
evidence to an 
argument. 

• May assert the use of 
historical reasoning 
but does not use it to 
frame or structure an 
argument. 

Responses that earn 1 point: 
Must demonstrate the use of historical reasoning to frame or 
structure an argument that addresses the difference between 
the First Industrial Revolution and the Second Industrial 
Revolution, although the reasoning may be uneven, limited, 
or imbalanced. 

 

Responses that earn 2 points:  
May demonstrate a complex understanding in a variety of ways, such 
as: 
• Explaining the nuance of an issue by analyzing multiple variables. 
• Explaining both similarity and difference, or explaining both 

continuity and change, or explaining multiple causes, or 
explaining both causes and effects. 

• Explaining relevant and insightful connections within and across 
periods. 

• Confirming the validity of an argument by corroborating multiple 
perspectives across themes. 

• Qualifying or modifying an argument by considering diverse or 
alternative views or evidence.  
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Examples that do not 
earn points: 

Provide evidence but 
offer no reasoning to 
connect the evidence to 
an argument 
• “The utopian socialists 

attempted to 
implement Marx’s 
ideas without 
revolution.” 
 

Using a historical thinking skill to frame or structure an 
argument could include: 
• Using comparative reasoning to explain significant 

cultural, economic, political, or intellectual differences 
between the first and second Industrial Revolutions. 

• Structuring an argument geographically to highlight the 
differences between the two revolutions in different parts 
of Europe. 

• Arranging an argument to recount differences over the 
course of the period showing change over time. 

Examples of acceptable use of historical reasoning: 
• “The expansion of consumerism was a key difference 

between the two revolutions.” (Uses comparative 
reasoning to explain a significant difference between the 
first Industrial Revolution and the second Industrial 
Revolution. This statement would need to be followed 
with at least a minimal elaboration of this reasoning.)  

• “While the first revolution occurred in Great Britain and 
Northern Europe, the second expanded this process more 
to central Europe and parts of southern Europe.” (Uses 
causal reasoning to explain a significant difference 
between the first Industrial Revolution and the second 
Industrial Revolution. This statement would need to be 
followed up with at least a minimal elaboration of this 
reasoning.)  

Demonstrating complex understanding might include any of the 
following, if appropriate elaboration is provided: 
• Explaining changes in the degree of difference, for instance by 

discussing longer-term effects of industrialization into the 
twentieth century. (Provides insightful connections within and 
across periods.) 

• Explaining reasons for the different regional levels of impact of 
the two waves of industrialization, in particular Eastern Europe 
vs. Central and Western Europe. (Explains nuance, multiple 
variables.) 

• Evaluating whether the differences were more significant than 
the similarities, for instance by considering class differentiation 
or ideological/policy reactions to both waves of industrialization. 
(Qualifies or modifies an argument.) 

• Considering whether there is in fact a useful distinction to be 
made between the two revolutions by discussing both as 
processes without clear beginning and end dates. (Qualifies or 
modifies an argument.) 

• Considering multiple possible differences while establishing one 
as clearly more significant than others explicitly discussed. 
(Confirms the validity of an argument by corroborating multiple 
perspectives across themes.) 

Additional Notes: 
This demonstration of complex understanding must be part of the argument, not merely a phrase or reference.  
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Long Essay Question 3 

Note: Student samples are quoted verbatim and may contain spelling and grammatical errors. 

Overview 

The Long Essay Question (LEQ) asks students to formulate a thesis/argument in response to a 
prompt about a particular historical development or episode in European history. In 2023, each LEQ 
asked students to determine the most significant difference between two events or processes in 
European history. LEQs require students to formulate arguments, utilize evidence, address historical 
context, and display an ability to employ historical reasoning skills. In the case of LEQ 4, responses 
were expected to demonstrate historical reasoning, specifically analyzing the most significant 
economic difference between the post-World War I era and the post-World War II era. Responses 
were expected to relate the topic of the prompt to the broader historical events, developments, or 
processes that occur before, during, or continue after the time frame specified in the prompt. 
Responses were expected to provide specific examples of evidence relevant to the topic of the 
economic differences between the post-World War I and post-World War II eras and to use this 
specific evidence to support an argument in response to the prompt. 

Responses were expected to demonstrate the use of historical reasoning to frame or structure an 
argument that addressed the prompt, and although the prompt directed students toward the 
historical reasoning process of comparison, responses could also frame their arguments around 
other types of historical reasoning (continuity, causation, and change over time). Responses were 
expected to demonstrate a complex understanding of the economic differences between the post-
World War I and post-World War II eras. This demonstration of understanding could be achieved in 
various ways. Responses could explain a variety of comparisons by analyzing the difference in 
economic conditions in Europe in the respective post-war eras, particularly regarding the economic 
instability created by the reparations demands of Germany after World War I as contrasted to the 
Marshall Plan-fueled economic rebuilding of Europe after World War II. Responses could also 
explain relevant and insightful connections across time by extending their argument about the post-
war economic differences to analyze the distinctions between Western and Eastern Europe in the 
1950s and 1960s. Responses were assessed on the extent to which they performed in the following 
four categories: thesis and/or claim, contextualization, evidence, and analysis and reasoning. 
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Long Essay Question 3 (continued) 
 
Sample: 3A  
Score: 6 
 
Thesis: 1 
Contextualization: 1 
Evidence: 2 
Analysis and Reasoning: 2  

A. Thesis/Claim (0–1 points): 1 
 
The response earned 1 point for thesis with the claim that “Although the first and second Industrial 
Revolutions had a variety of similarities regarding technological improvements and urbanization, 
ultimately their differences were more prevalent.” The response also establishes a line of reasoning 
stating the differences occurred due to a “stark shift in safety and efficiency because of changes in 
types of technology itself, health and lifestyle moderation, and social and economic implications.” 
 
B. Contextualization (0–1 points): 1 
 
The response earned 1 point for contextualization in the first paragraph by discussing how new 
technology developed during the Agricultural Revolution contributed to the First Industrial 
Revolution. 
 
C. Evidence (0–2 points): 2 
 
Providing Specific Examples of Evidence 
The response earned 1 point for providing specific examples of evidence by discussing the growth of 
transportation through the steam engine and railways, the negative effects of urbanization, and the 
lack of workers’ rights during the First Industrial Revolution. The response also indicates the 
emphasis on mass production of consumer goods, the emphasis on addressing problems created by 
urbanization, and the development of labor laws during the Second Industrial Revolution. 
 
Using Specific Evidence in Support of a Relevant Argument 
The response earned 1 point for supporting an argument by explaining the cause-and-effect 
relationship in technological development, social conditions, and workers’ rights that developed 
during the First Industrial Revolution and analyzing the changes incurred in the Second Industrial 
Revolution. 
 
D. Analysis and Reasoning (0–2 points): 2 
 
Using Historical Reasoning 
The response earned 1 point for using historical reasoning by comparing the technological, social, 
and economic conditions occurring during and after the First and Second Industrial Revolutions.  
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Long Essay Question 3 (continued) 
 

Demonstrating Complex Understanding 
The response earned 1 point for explaining the nuances of the issue by analyzing multiple variables 
in its discussion of the technological, social, and economic differences between the First and 
Second Industrial Revolutions. 
 
Sample: 3B  
Score: 4 
 
Thesis: 0 
Contextualization: 1 
Evidence: 2 
Analysis and Reasoning: 1  

A. Thesis/Claim (0–1 points): 0 
 
The response did not earn a point for thesis because the argument in the first paragraph that the 
most significant difference between the First and Second Industrial Revolutions is “how much each 
one affected the continent” is not specific to the time period and is overgeneralized. 
 
B. Contextualization (0–1 points): 1 
 
The response earned 1 point for contextualization in the second paragraph by situating the advances 
in technology that resulted from the Agricultural Revolution and the increasing supply of raw 
materials that made the First Industrial Revolution possible. 
 
C. Evidence (0–2 points): 2 
 
Providing Specific Examples of Evidence 
The response earned 1 point for providing specific examples of evidence, including the urbanization 
of Manchester and Britain’s economic growth as the first to industrialize in the second paragraph. In 
the fourth paragraph, the response identifies the spread of industrialization to Belgium, France, and 
Germany and new technology (“light bulb, radio, telephone with Morse code”) created during the 
Second Industrial Revolution. 
 
Using Specific Evidence in Support of a Relevant Argument 
The response earned 1 point by supporting an argument comparing the impact of the First Industrial 
Revolution on Great Britain in the second paragraph and the spread of the Second Industrial 
Revolution throughout continental Europe in the third paragraph. 
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Long Essay Question 3 (continued) 

D. Analysis and Reasoning (0–2 points): 1  
 
Using Historical Reasoning 
The response earned 1 point for using historical reasoning by successfully structuring an argument 
comparing the difference between the industrial growth of Great Britain during the First Industrial 
Revolution and the subsequent spread of industrialization throughout the continent during the 
Second Industrial Revolution. 
 
Demonstrating Complex Understanding 
The response did not earn the point for complex understanding because it does not attempt to 
modify, qualify, or corroborate an argument. 
 
Sample: 3C  
Score: 2 
 
Thesis: 0 
Contextualization: 0 
Evidence: 1 
Analysis and Reasoning: 1 
 
A. Thesis (0–1 points): 0 
 
The response did not earn the point for thesis because the argument in the first paragraph that 
“both of these Revolutions had different impacts” is overgeneralized and does not establish a line of 
reasoning. The second attempt at the thesis point about the “inventions that came out of them” in 
the last sentence is also overgeneralized and not specific to the time period. 
 
B. Contextualization (0–1 points): 0 
 
The response did not earn the point for contextualization because the references in the middle of the 
first page to rural farming life and the cottage industry are incorrectly situated as a part of the First 
Industrial Revolution rather than as events that led up to it. 
 
C. Evidence (0–2 points): 1 
 
Providing Specific Examples of Evidence 
The response earned 1 point for providing specific examples of evidence, such as the “spinning 
ginny” in the middle of the first page during the First Industrial Revolution and increased 
government involvement in the economy during the Second Industrial Revolution at the end of the 
first page. 
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Long Essay Question 3 (continued) 

Using Specific Evidence in Support of a Relevant Argument 
The response did not earn the point for using specific evidence in support of an argument because 
it does not use the evidence provided to support an argument. There is an attempt to support the 
argument with the “spinning ginny,” but the statement that the “needs of the customers … were not 
met” does not support either attempted thesis. The development of capitalism and government 
involvement at the end of the first page does not support either attempted thesis. The attempt to 
explain the technologies of the Second Industrial Revolution on the second page does not support 
an argument because it does not explain how these inventions are used and does not rise above a 
passing reference. 
 
D. Analysis and Reasoning (0–2 points): 1  
 
Using Historical Reasoning 
The response earns 1 point for historical reasoning for structuring an argument comparing the 
differences between the First Industrial Revolution and the Second Industrial Revolution. Although 
the argument is underdeveloped, the two Industrial Revolutions are compared throughout the 
response and specifically with the change in government involvement increasing during the 
Second Industrial Revolution at the end of the second page, demonstrating the historical skill of 
comparison. 
 
Demonstrating Complex Understanding 
The response did not earn the point for complex understanding because it does not attempt to 
modify, qualify, or corroborate an argument. 
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